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General Instructions :

(1) All questions in both the sections are compulsory.

(ii)  Marks for questions are indicated against each.

(iti)  Questions No. 1 -5 and 17-21 are very short-answer guestions
carrying 1 mark each. They are required lo be answered in one
sentence each.

(iv) Questions No. 6-10 and 22-26 are short-answer guestions
carryving 8 marks each. Answers to them should normally not exceed
60 words each.

(v)  Questions No, 11 - 13 and 27 - 29 are also short-answer guestions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14-16 and 30-32 are long-answer questions
carrving 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.

g 78T

(i) T @Sl % TU 5T EEd §

(i) FF T & fuifta $i% 399 g few T & |

(iii) 707 & 1-§ 797 17 -21 37 7970% 39 8 (977 39% & 1 5%
7 | T 3T a9 UH @ § F G F i |

(iv) 97 & 6~ 10 3% 22 - 26 599 & 7 5% & 3 3% £ |
ye% F I GETE 60 Wl § fuF 51 g e

(v) 5% d@7 11 - 13 37 27 - 29 % &gau=s 599 8, (979 59% & 4 3%
§ | ¥EF F IuT T 70 =] # sHuw 7@ g wie |

(vi) F¥F TEw 14 - 16 IR 30 - 32 SMETHE IR A% F37 &, [ 59F %
6 3% & | 34w F1 I aEgar 100 V=l g 3 78 g 9E

(vii) I TS TUT TETHE g4 WY U7 FYEYT FW 8 T g F faia &
ffw S =R
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SECTION A Page 3

H|uE A
1. Define a budget line. 1
aoe Y@ & uftwmer e |
2,  What is meant by inferior good in economics ? I

sfyrE § fresai (sfean) a5 @ w3 @ g 2 2

3. In which market form can a firm not influence the price of the

product ? 1

fF0 TR & 9EF ¥ UF WH IAE F Fmd & wfaq T8 K FFar ?

4. Define monopoly. 1
peaibearic i T S i

5. What can you say aboult the number of buyers and sellers under
monopolistic competition ? 1

it wfaafer 8 a9 Saed ik G &t 9= & a0 == F7 99d
g ? |

6. Explain the effect of the following on the price elasticity of demand of
a commodity : 3

(i) Number of substitutes

(ii)  Nature of the commodity

TF a5 H OO0 & &g @l | AEfatme F ooe @ s fie
(i)  wfoeames aoget & -TE
(i) == F I
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8.

9.

10.

58/1

Explain any two causes of ‘increase’ in demand of a commodity.

OR

Explain the inverse relationship between price and quantity
demanded of a commodity.

awg @ = § 9fe’ & & G sl St osmen §ifag
gar
U gE F SMa A IS F-HE1 A el @ee § s #ifE |

A firm’s average fixed cost, when it produces 2 units, is Rs. 30. Its
average total cost schedule is given below. Calculate its marginal cost

and average variable cost at each level of output.

Output (units) 1 2 3

Average total cost (Rs.) 80 48 40

2 THEEl W IUET FH4 W UF GH H AET R @w 30 F. & | IWE e
F A TG A W R T | TR F TS WOW TEH WA A 3R
e TfEd e i 9iEen # e |

TeUEA (TFEAT) 1 9 3

3HT FA @ (%) 80 48 40

Total revenue is Rs. 400 when the price of the commodity is Rs. 2 per
unit. When price rises to Rs. 3 per unit, the gquantity supplied is
300 units. Calculate the price elasticity of supply.

T A 2% 9 TFE G W FE GO 400 5. § | 99 A 995 3 5. 9
FE F W 8, d Y- 300 TE @ Wt 2 1 Y @t Fea aw & oiEmen
FfaT, |

Why is the number of firms small in an oligopoly market ? Explain.

HATUFR AR § GHf F1 S 59 54 a4l # 7 SHERT |
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11.

12,

13.

14.
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Explain the problem of ‘how to produce’. 4 Page 5

OR
Distinguish between microeconomics and macroeconomics. Give
examples.
T OICES F OF OGAEA F A FAT |
g
=fy sdyre 3 wuiE sdvrm U A SifSe | seEew e

When price of a commodity falls by Re. 1 per unit, its quantity
demanded rises by 3 units. Its price elasticity of demand is (-)2.
Calculate its quantity demanded if the price before the change was
Rs. 10 per unit. 4

Wa U g% # da 1% 90 3EE gedl 2, df 39E W-Aml 3 59 9 S
2 | TS WM FH FIWa @G (—)2 2 | Fwa § WREd € 7@ 10 5. 9T IR w5
T IS HOT-OET W Ui #eT |

How does the equilibrium price of a ‘normal’ commodity change when
income of its buyers falls 7 Explain the chain of effects. -

U HEA A # OHqed Fiea d, 366 sl @ 3T wH @4 §, &9 uftEdd
AR ? BN SR WAE F 4Een auIsET |
State whether the following statements are true or false. Give reasons

for your answer : G

(i) When marginal revenue is constant and not equal to zero, then
total revenue will also be constant.

(11) As soon as marginal cost starts rising, average variable cost also
starts rising.

(iii) Total product always increases whether there is increasing
returns or diminishing returns to a factor.

A4 IR & fau Fwv 9 gU wne fF PefefEd #4958 & W e

(i) =& S S e g # ST T 8 A, 0 He )wi ot e g o
(i) S & Hs A wge T 8, #tew aRedn g o e o @
(i) =@ FF & TTHAA Nfawa & 7 FEEE AfTE &, FoT IS FHI AL 2 |
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Page 6

15. What are the conditions of consumer’s equilibrium wunder the
indifference curve approach ? What changes will take place if the
conditions are not fulfilled to reach equilibrium ? G

A % g ¥ TR s Y S R W A F 2 Ak A W W@
gl o dgem 9% Tgad H w1 ufEdd @ ?

16. From the following schedule find out the level of output at which the
producer is in equilibrium, using marginal cost and marginal revenue

approach. Give reasons for your answer, ]
Price per unit Qutput Total cost
(Rs.) (units) (Rs.)
8 1 6
T 2 11
6 3 15
5 4 18
4 5 23
OR

Explain the law of returns to a factor with the help of total product

and marginal product schedule.

A @ O SEE § IRA & 98 W A9 S W W I@es g9qad 3 fafa
g e wme 3R dre oW &Y W T8 #1133 $ fau SR

gifsT |
HHE 9§ | SWEA | o @

(%) (351%) (%)
8 1 G
7 2 11
6 3 15
5 4 18
4 5 23

HGdr

58/1

Click for Answer Key: http://www.respaper.com/cbse12/327/5765.pdf



SECTION B Page 7

HUs

17. Give the meaning of money. 1
TE H HY FaEC |

18. What is meant by revenue deficit 7 1
T M W owm o g g ?

19. What is ex-ante aggregate demand ? 1
T w9 AT T OB 2 7

20. Give the meaning of inflationary gap. | I
wifts 3=A0a # & FEARy |

21, State two sources of demand for foreign exchange, I

faesl fafma & 9 & T =9 T69=¢ |

i

22. Distinguish between real and nominal gross domestic product. 3
OR
Giving reasons, classify the following into intermediate and final
goods :

(1) Machines purchased by a dealer of machines.

(ii) A car purchased by a household.

ardfas 3 difis TFa TS9O § e FifE
e

F0] G gu, Frefafaa @ RemEdl o sfaw wed § affga Fifa
(i) wefEr % = g =@ id T aeie |
(i) Uw YRER g E@iE ™ &1 |
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23. Explain the ‘banker to the government’ function of the central bank. 3 Page s

T2 AF T WER F 9w F @ % AR Sifew |

24, Explain the allocation function of a government budget. 3

mﬁm#m@(ﬁmﬂmﬁﬁmml

25. Distinguish between autonomous and accommodating transactions of
balance of payments account. 3

TEF Sqed @d & @Y R Jedifad derernl § 4 FifSe

26. Giving two examples, explain why there is a rise in demand for a
foreign currency when its price falls. 3

T I & FU wEgme fF R omm & dma 9ed W oIEEl S &4 g
g1

27. How does a commercial bank ereate money 7 4

OR

Explain how do ‘open market operations’ by the central bank affect
money creation by commercial banks.

HEEaE o% G F A & & g 2
Ao

F4E A% F G TR AR HeaiEs o6 g fFuoeE 9w g@ G @
&2 yafas & 2 7 §9EmT |

28. Giving reasons, state whether the following statements are frue or
false : 3 4

(1) When marginal propensity to consume is zero, the value of
investment multiplier will also be zero.

(ii)  Value of average propensity to save can never be less than zero.
T W BT FORC fF frefareT F99 9@ & A 7o

(i) @ dea I w3 A 2, @ fEw e @ oges ot = @
(ii) oitad =@ MafF =1 909 491 Ff Y% ¥ 9 76 @ FqF5a |
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29. Distinguish between : 4 Page 9
(i)  Capital expenditure and Revenue expenditure

(ii)  Fiscal deficit and Primary deficit
fr=fefaa ® we Fifaw

(i)  dsim = SR e =g

(i) TN TR SR mafE R

30. How will you treat the following while estimating national income of

India ? Give reasons for your answer. 6

(i)  Dividend received by a foreigner from investment in shares of an
Indian company.

(ii}  Profits earned by a branch of an Indian bank in Canada.

(11i) Scholarship given to Indian students studying in India by a
foreign company.

OR :

Explain the problem of double counting in estimating national
income, with the help of an example. Also explain two alternative
ways of avoiding the problem.

TR F TPE WA F FeS S0 989 A9 FEaiEd § 99 S SEER 597 7

Ao I & fu @R g |

(i) uw 53l =1 = 9nag SO % il § feu v fEw ¥ 9 e |

(i) FoE ¥ UF 9IREE dF 3 I gW Afaa @ |

(iii) Eﬁﬂ?ﬁmﬁmmﬁﬁémﬁaﬁﬁaﬁﬁnﬁmﬁ|
FIET

TP #F W OHIEE ATH § HW AR R A FOFEE UF ISR 4
TIERET | TH ONE ¥ w94 § © S9feqw 399 off FORT |
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31.

32.

28/1

In an economy the equilibrium level of income is Rs. 12,000 crore. The ~ Pagel0

ratio of marginal propensity to consume and marginal propensity to
save 15 3 : 1. Calculate the additional investment needed to reach a

new equilibrium level of income of Rs. 20,000 crore. ]
TF ¥ierEed ¥ e # dqes ®R 12,000 FUE E 7 | Hm Iqhn wgfe sk
Hr @wa eft F1 3T 3 : 1% 1 20,000 FT F SE F W UG WH W
T ¥ fou wEvEs At FEv #@ uReed F#eg |

Calculate {(a) Gross domestic product at market price, and (b) Factor

income from abroad from the following data : J+3=0

(Rs. in crores)

(i) Profits 500
(ii) Exports 40
(iii) Compensation of emplovees | 1,500
(iv)  Gross national product at factor cost 2,800
(v)  Net current transfers from rest of the world a0
(vi) Rent 300
(vi1) Interest 400
(viii) Factor income to abroad 120
(ix) Net indirect taxes 250
(x) Net domestic capital formation 650
(x1). Gross fixed capital formation 700
(xii) Change in stock 50
10
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— E—— Page 11

famfafaa sifwgl & (37) 991 §ed W §=d 90 I, R (F) &9 9 w6s
E = tfiFes SifaT |

(7. F0gr %)
(i) = 500
()  faafa - 40
(i) wEEE F RS 1,500
(iv) W& @E W TEa T9E IR 2,800
(v) I fova 3 fraw T sfon 90
(vi) fEm= 300
(vii) =419 400
(viii) faevi =+t =°s amg 120
(ix) fEe swEE =t 250
(x) fra= =g g6 o 650
(xi) oo TgE e fmT 700
(xii) =& H qfEed 50
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